iR B S EL R O 1108 & & B - S 5163 SR
M=

v * 8 - 8 ¥
12 WEL R M # 202+ +
TSR 124] HZEE 1.2Kg pEag 22.6 g
13 |FE1RBERI(%7) 0.6Kg BHERTFORGRE)  1Kg ERE 7.0 g
po|HEE 0.6Kg INTUEH T 0.5Kg v Bl 13.2 g
% |HEWIR) 0.5Kg A7 FR(EsA] A BE) 0.5Ke AN A 1.0 g
2y FEIMAE T 0.5Kg g 114. Img
- 4 59. 8mg
% #ic

30

12 X Ep o ~ B #E 370+ +
v | E kRN 15 AL/ NS -T2 prag 72.9 g
14 |FEERTAH  0.8Kg —Hb(1kg) 14 T 5.1 g
po|EEEA@EETH) 07Ke FELE-H 0.3Kg R 9.3 g
B | 0.1Kg A=A 0.3Kg EAEE 2.8 g
#p =X 0.2Kg ot 6. Tmg
- 4r - 23. 1mg
£ #ic

30

12 Sk AR U F g e 487+ +
v | 1Kg 4 MRS (RLLYI) 3218 | sUkaes(1857 m) 2 | B 4E - 98.8 g
15 |FERRRAI(A%R) 0.5Kg L 3.0 g
po|EE 0.1Kg O 1T.2g
5 [HE% 0.1Kg Hega:  25¢g
2y 4ot [146. 8mg
B 4 - 38. 8mg
% K

30

12 il FEELE 247 Ejﬁf i 287~ +
TS HECHEFED) 155R El?é%qﬂT IKg |4l &M 32 | HE 5 RESR(1857 ml) 2)6 | s 48 33.6 g
16 HHE-[ 177 g bk 12.0 g
p NEAGD) 0.6Kg F 11.6 g
5 ek 4.0 g
Hy 4o 56. Img
- 4F 15. 5mg
£ ¥

30

12 e % A R Bd ot P #2E 349+ +
LI e 2Kg SASREALOER R 2 5 2% (s 63.2 g
17 /NESEVIEE 0.3Kg R 6.1 g
P FERARAI(ASR) 0.3Kg 6 R 11.2 g
5 |JEEMERE  0.1Kg agm: 0.9
#y Ao 4. 6mg
7 4F 12. 1mg
% #ic

30

s 1k T 04-8613339 @ E : 04-8613336
MAFHPE B NALHRE

w3 = RRE &




Al4-2= i BAxBABSR R 2 2F 1108 R % - £ %163 o3kt
MR &

I i Bl Ik 2 Flyees
12 |9 $a % g P R R V) F R rhel B R F 1 |

v | K |FERTBRAIGAT) 1.5Kg |25 1.5Kg |4 HAEE  2.5Kg|vkm 3 |+ 16.6 g
13 & S5 (V1) 1.2Kg /¥ RS IKg | KFr(FEAR) 0.1Kg | B 2KE ) (&) 1= g %

p LHHA 0.1Kg |E71E 0.1Kg HZRETT (T 17 6.9 g
5 FEE(ORE) 0.3Kg v R
i wA 0.1Kg 29.0 g
_ g
2 242+ +

33

12 | kE b LR WG ik A W) AR R L

v | OF | EEHERBR(D6-&) 358 | HEE(HSR) 1Kg |3 IES 2Keg | &R T Kg| B | 35.2¢
14 LS N EL-E A& | 43—/ INHR 0.5Kg | KFEGEAR) 0.1Kg |58 LB A@EHFE T A%) 0.3Ke LRV

P FELAEA)  0.3Kg i 0.1Kg 5.7 g
5 RE 0.1Kg By
Hy SHEEE 4% 0.1Kg 20.2 g
= BT 0.1Kg B
2 ¥ 261~ +

33

12| % il FF 7R VR P o |PEN

v | SF |BEEBRAI(A%) 2Ke|EEEETDT  1L5Ke|/hNAEbIE: 2Kg [ -Hir 340 | 11.1g
15 | = |amsiscoogi) 1k e 1 | 4k 0.1Kg it | e

P HEEWIE)  0.6Kg /NI T-5inkAl 0.5Ke 6.7 g
% % HERHI(CAS) 0.3Kg |/AT4S 0.5Kg F
y FERETI SR 0.3Kg 20.3 g
= HHEE 0.1Kg AME
2 178+ +

33

12 | k& % fe g B 2 RS B4 g F ¥ |ma

| F (S E 355 [T 2KE (&) 22 SR 2Kg|BLEFEWIF) 0.8Kg| 7 46.6 g
16 | 4 FELAELA)  0.5Kg [ KwrGerA)  0.1Kg|RZE(ESE)  0.5Kg B

Bt 0.1Kg HE 0.2Kg 2.7 g

5 BEEE 0.1Kg v
# LSRR % 0.1Kg 21.8 g
= #E
% B 480~ +

33

12 |9 9. A5 YR RE 2o B | A (e

v K BEREEAGAT)  2Kg [ELUIA L5Kg [HEEWIH) 2Kg [AHETERGH)  1Kg| % 23.2 g
17 | A< [B-KT 0.8Kg |FHE4E 0.3Kg | KFRGEAR) 0.1Kg |5 FIEAEES T %) 0.3Kg LRV

p HHEEE A 0.2Kg |HZEE] %% 0.1Kg| & %% 0.1Kg 3.3 g
% RE& 0.1Kg B0 F
3 16.3 g
Ey #E
& o 175+ +

33

G e h LR EEEE ¢ 04-8613339 {HEL 1 04-8613336
MAFHPER 5 WAL Fp

32 =R fRE K E




